The number shown in the table =

Thousands Hundreds Tens Ones ‘ Tenths Hundredths
When divided by 10 the counters move............ place to the .........ccccuvveuue.n.
The new numberiis .......cc.........

When divided by 100 the counters move............ places to the ........................
The new numberiis ....................
When divided by 1,000 the counters move............ places to the ........................
The new numberis ..o
64.0
6,400 x10 0.64
X1,000 =100
Tick the correct 64
answers and
explain the 0 x100
mistakes
6.4 +1,000 6'400
0.64
Complete the table
=10 =100 | +1,000
40
4kg
0.6
8.0
4.04




